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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 3451 3.1 1 4 76.9 99.9
2a 3446 2.8 1.3 4 68.8 99.7
2b 3443 4.2 1.5 8 53 99.6
3 3454 4.3 1.2 6 71 99.9
4a 3455 3 1 4 75.8 100
4b 3439 3.7 1.4 6 62.1 99.5
4c 3445 3.4 1.9 8 42.9 99.7
5 3446 5.3 1.8 10 53.3 99.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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	 (b)	 Discuss the view that not all businesses will suffer as a result of the impact of exogenous 
shocks, such as the floods that hit the UK in 2012.	 [8]
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Sticky Note
Slightly better counter argument, using data from the text. Somewhat limited response, just reaching mid-point of Level 2.

Sticky Note
Mark awarded for understanding of the unexpected nature of exogenous shocks.

Sticky Note
Narrow analysis of impact of flooding on UK businesses. More development of other shocks would have helped.





2b: 5

Sticky Note
Basic evaluation undertaken using examples from the text. Top of Level 2 achieved.

Sticky Note
Weak conclusion. If candidates offer a conclusion they should try to make their conclusions meaningful rather than merely a repetition of what they have already said.

Sticky Note
Explanation of how some businesses suffered from the 2012 floods. Examples taken from the text.

Sticky Note
Mark awarded for appreciation of the unexpected or unforeseen nature of an exogenous shock.









2b: 7

Sticky Note
Good analysis of the positive impact of the flooding on some businesses, applying both own knowledge and data from the text. A wide range of examples.

Sticky Note
Mark awarded for appreciation of unexpected nature of exogenous shock.



Sticky Note
Good evaluation evident - implications for insurance companies are an interesting point.

Sticky Note
Further development of businesses that may have benefited. However, this development is too lengthy and is focused entirely on the flood scenario. Writing too much can be an issue in relation to the completion of the paper. Time management must be considered.



Sticky Note
Conclusion adds nothing to the answer. Good Level 3 response which would have benefited from reference to other shocks that have occurred recently.



Turn over.
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	 (c)	 Explain why, despite all the difficulties that face them, small businesses continue to 
survive.	 [8]









Dave
Sticky Note
The point about local individualistic shops and unique products lift the response into the middle of Level 2.

Dave
Sticky Note
The point about niche markets is a good one, particularly in relation to their ability to charge higher prices. This reinforces the survival issue.

Dave
Sticky Note
The response is, at last, underway. A valid point is made in relation to customer loyalty, although the development is not good.

Dave
Sticky Note
A classic example of not reading the question carefully. Everything up to this to this point is NTP (Not to the point) Half of the space available has been used up due to poor exam technique.







Dave
Sticky Note
The explanation relating to personal service in local shops and quality of products are well made. 

Dave
Sticky Note
This point does not really explain why they survive and therefore is not to the point. 



Dave
Sticky Note
This final point is relevant but not explained that clearly. Large businesses, especially retail organisations, do like to have a presence in small towns, although the point about villages is true where small pubs and shops have managed to survive.Certainly reaches the top of Level 2.

Dave
Sticky Note
Finding a gap in the market is relevant, although use of the term 'niche market' would have enhanced the point.







Sticky Note
A well developed, relevant response in relation to customer service, with good use of an example.

Sticky Note
Poor exam technique - this is not why small businesses continue to survive. NTP.



Sticky Note
This point too is very good; but probably the candidate is penalising him/herself in terms of time management.  Also the end of the last sentence is virtually illegible.

Sticky Note
The candidate should have used the additional sheets provided rather than cram the work into this small space. Nonetheless, the point about losing control and wanting to remain as a small business is well made and confirms that this is a top Level 3 response.

Sticky Note
Again, a well explained point in relation to niche markets. Sound use is made of the example to support the points being made.



(1081-01) Turn over.
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5.	 Glass Tech Recycling Ltd seeks second location in North Wales.

	 Glass Tech Recycling operates from a unit on an industrial estate close to the M4 near Neath, 
in South Wales.

	 The company’s operations director, Karen John, said the business, which started trading in 2011 
as a specialist glass recycling company, survived its first year with better than predicted results, 
allowing it to forge ahead with expansion plans for a second site in North Wales. It is now looking 
for a suitable location.

	 Adapted from: South Wales Evening Post, January 2013

	 Consider the factors that businesses, such as Glass Tech Recycling Ltd, need to take into 
account when deciding on where to locate.	 [10]

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	







Sticky Note
Proximity to a motorway or a port (the firm may have customers abroad) is relevant. Cost implications are implied but not well developed.

Sticky Note
Poor technique - first three lines wasted



Sticky Note
This may be a relevant point in some of the remoter parts of Wales, although 'phone signal' is not the correct terminology.
Mid- Level 2 response. Relevant issues but not well developed.

Sticky Note
The proximity to a local community is a factor to consider, especially in relation to possible pollution and disruption to that community. Opportunity to view the community as a possible source of labour missed.







Sticky Note
The point relating to proximity of competition is well made, especially in relation to possible impact on pricing strategies.

Sticky Note
ACCESSIBILITY is a key point. Here the candidate emphasises how important this is in the success of their S. Wales site.

Sticky Note
Irrelevant to this point. Many candidates wasted the first three or four lines and demonstrated poor exam technique, as well as wasting their valuable time.



Sticky Note
Availability of a skilled workforce is relevant for such a business, although the candidate may have developed the point a little in relation to costs and wages. Sufficient for top of Level 2.


Sticky Note
Use of a Greenfield site is highly unlikely but the point relating to infrastructure is relevant, although not well-expressed.

Sticky Note
Being 'visible' to passing customers is not a key issue for such a business and is unlikely to be a key locational factor.







Sticky Note
Candidate is aware that this is a growing business and that room for expansion may be an important factor. This point is further developed towards the end of the candidate's response. Awareness that some areas are not open to Glass Tech is demonstrated, with legal issues taken into account.

Sticky Note
Ease of access by road is highlighted along with the point that grants may be offered as an incentive to businesses to move to an area to create employment.

Sticky Note
Labour issues dealt with succinctly, covering both accessibility and skills.



5: 9

Sticky Note
Some appreciation of cost is shown here - it would have been good to 'cost issues' gaining greater prominence in the response. Nonetheless, there are numerous key factors considered and this script deserves to attain Level 3. Relevant information was effectively organised and expression was clear and fluent.

Sticky Note
Various points are made concerning competition,proximity of customers and image - although the development here leaves something to be desired; particularly the examples of Paris and London which are not really relevant to the case in point.

Sticky Note
The impact on the local community and the environment is evaluated and possible opposition justified.
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2 


Question Answer 
Mark 


allocation  
Assessment 


objective  


2 (b)  Discuss the view that not all businesses will 
suffer as a result of the impact of exogenous 
shocks, such as the floods that hit the UK in 
2012.  
 


Level 1 Candidate briefly outlines 1 or 2 
positive/negative impacts that an exogenous shock 
may have on UK businesses. 
 


Level 2 Candidate attempts to explain the harm 
and/or benefits caused by exogenous shocks to UK 
businesses and may attempt some basic 
evaluation. 
 


Level 3 Candidate fully evaluates the viewpoint, 
using relevant examples. 
 


Indicative Content: 
Possible responses may include: 


 Damage to the agricultural businesses affected 
by flooding and excessive rain. 


 Disruption to travel in the UK – train companies 
suffering from damaged tracks and lost revenue. 


 Tourism in the UK damaged – camping 
particularly badly hit. 


 Businesses flooded out – pubs, hotels, high 
street shops etc. 


 Insurance companies having to pay out vast 
amounts of money. 


 Any relevant harm to businesses caused by 
flooding.  


 


However: 


 Examples from text of businesses that saw an 
upturn in trade for certain items. 


 Tradesmen and building firms who will pick up 
work repairing the damage caused by the 
floods.  


 Businesses not affected by floods may pick up 
trade from their unfortunate competitors who 
were impacted. 


 Businesses which have undertaken contingency 
planning (for example, insurance policies, flood 
defences) will not suffer to the same extent to 
those who do not undertake such planning. 


 


Students may refer to any exogenous shock and 
use relevant examples to illustrate their point. 
Certain ‘shocks’ – such as terrorist attacks – have 
almost an entirely negative impact, when compared 
to others such as flooding.  
 


Max 1 for correct definition of exogenous shock – 
must indicate unexpected or unforeseen impact.  
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1-2 
 


 
3-5 


 
 
 
 


6-8 


AO1 1 
AO2 1 
AO3 2 
AO4 4 
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Question Answer 
Mark 


allocation 
Assessment 


objective 


4 (c)  Explain why, despite all the difficulties that face 
them, small businesses continue to survive. 
 
Level 1 Candidate briefly outlines 1 or 2 reasons 
why small businesses continue to survive.  
 
Level 2 Candidate attempts to explain at least 2 
reasons why small businesses continue to survive.  
 
Level 3 Candidate fully explains reasons why 
small businesses continue to survive.  
 
Indicative content: 
 
Possible responses may include: 
 


 Some business owners do not want to grow 
and are content to operate as a small business 
without all the stresses and strains associated 
with a growing business. 


 Some small businesses can survive on a 
relatively low cost structure for example may 
operate from home or have no stock holding 
costs. 


 Some serve niche markets and there is no 
scope for growth – the market may not be 
possible to expand.  


 The government actively encourage the start-
up of small businesses and offers help and 
advice to those wishing to start an enterprise.  


 The changing structure of the economy and the 
expansion of the tertiary sector has contributed 
to the growth of small businesses. Many 
services can be delivered more effectively on a 
small scale. Hairdressers, personal trainers, 
etc.  


 Small businesses can adapt to change quickly 
and satisfy customer needs more effectively 
than a cumbersome plc.  


 Many people who are made unemployed start 
up small businesses with their redundancy 
payments, utilising the skills they’ve gained 
when employed by larger companies. 
Carpenters, fitters, engineers, etc. 


 Some consumers like to purchase goods from 
specialist suppliers and outlets as they may 
provide something unique or provide a 
personal service which some larger 
organisations struggle to achieve.  
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AO1 2 
AO2 4  
AO3 2 
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Question Answer 
Mark 


allocation 
Assessment 


objective 


5   Consider the factors that businesses, such as 
Glass Tech Recycling Ltd, need to take into account 
when deciding on where to locate. 
 


Level 1 Candidates briefly describes relevant location 
factors. The candidate organises information and 
presents simple ideas in a clear manner using some 
appropriate terminology suggesting weakness in these 
areas. 
 


Level 2 Candidate attempts to explain at least 2 
relevant factors that businesses would need to take into 
account. The candidate can organise relevant 
information and express moderately complex ideas 
clearly in a coherent manner. There is good use of 
specialist terminology. 
 


Level 3 Candidate fully considers at least 3 key factors 
that the business would need to take into account when 
deciding upon where to locate. The candidate can 
organise effectively relevant information and express 
complex ideas extremely clearly and fluently. There is 
very good use of specialist terminology.  
 


Indicative Content: 
 


Possible responses may include: 
 


 The cost of renting or purchasing a suitable site in 
order that profitability will not be damaged by 
excessive rent or interest repayments. 


 Business rates need to be affordable. 


 Planning permission if expansion needed in future. 


 Sufficient space for future growth if anticipated. 


 All amenities available – especially internet access. 


 Transport links – good access to major 
highways/motorways. Not somewhere where 
congestion is an issue. 


 Sufficient potential customers within the region 
chosen.  


 Competition – avoid areas where there are other 
recycling businesses. 


 Possibility of gaining some kind of grant or incentive 
for locating in a certain area. Local or central 
government assistance.  


 Availability and cost of labour in the area chosen.  


 Industrial activity such as this may cause noise and 
disturbance – needs to be away from residential 
areas.  
 


If candidates focus their responses on businesses 
which are in a different sector to Glass Tech Recycling 
Ltd, (for example, retail) then these responses must be 
qualified.  
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8-10 


AO1 1 
AO2 1 
AO3 2 
AO4 6 
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